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c cg ¢ c C11

A knot diagranﬂ C2 Cg €3 Cg Cs
Ideals for irreducible component#ﬂ)f Xpar

I =W —u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(@Ww®—u?+... —u—1)

(i) Arc colorings
0
a2 = u
a7 =
ag =
as =

ag =

ulo—u8+2u6—u4—u2+1>

a10 = \ 2 — 2010 4 448 — 445 + 3u*
u® — 2u'7 + 6ul® — 8u'? 4+ 9ult — 6u? + 4u® — 3u3
asg = \u?' — 3u' + 9u!” — 16u'® + 24u'3 — 250 4 21u° — 10u” + 3u® — ud 4+ u
ut —u?+1
ag = —ul
—ul® 4+ 201 — 500 + 6u” — 6ud +4ud —u
aiz = w® — w30 — 20"+ 20—t u
—u?? +3u?0 - —2u? + 1
as = u?? — 2020 o —dut 4l
—’U/28+3’U;26+"'—’U,2+1
a1l = —u29+u28—|—~~-—u—1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? + 16u?7 — 4u? — 60u?5 + 12u?* + 148u?® — 44u?? —
304u2' + 88u?0 4 508u'? — 160u'® — 692u'” + 212u'6 + 79615 — 224u'* — 736u'3 +
168ut2 + 568utt — 80wtV — 3444 + 180u” + 2448 — 84u® + 3203 — 8u?2 — 12u+ 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cg, Cs WO+ 7w+ +Bu+1
C2,C7 WO P4+ fu—1
€3, C4, C5 B IR S |
€10, C11, C12
Co u® — Tu?? 4 -+ 4 521u — 295




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cg, C8 v +33y% + -+ 39y + 1
€2, C7 v =Ty =By +1
C3704705 y30743y29+75y+1
€10, C11, C12
Co y?0 — 2352 + ... — 1109241y + 87025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

uw = 0.920005 + 0.4303781

4.66034 — 4.784631

7.25047 4 6.818551

u = 0.920005 — 0.4303781

4.66034 + 4.784631

7.25047 — 6.818551

u= 0.979433

12.9125

3.79610

u = —0.968807 + 0.4568961

15.5155 + 5.51171

7.63592 — 5.510871

u = —0.968807 — 0.4568961

15.5155 — 5.51171

7.63592 4 5.510871

u = —0.850370 + 0.3539231

0.53732 + 3.178071

2.96134 — 9.779821

u = —0.850370 — 0.3539231

—0.53732 — 3.178071

2.96134 4 9.779821

u = —0.895297

2.40603

3.06770

u= 0.782312 + 0.2343211

—1.26656 — 0.806711

—2.39136 + 0.486201

u= 0.782312 — 0.23432171

1.26656 + 0.806711

—2.39136 — 0.486201

u = 0.873425 4 0.8500321

6.78596 — 0.152901

9.21207 — 2.208131

u = 0.873425 — 0.8500321

6.78596 + 0.152907

9.21207 + 2.208131

u = —0.353083 + 0.6961581

17.4896 — 1.30461

12.03831 + 0.064441

u = —0.353083 — 0.6961581

17.4896 + 1.30461

12.03831 — 0.064441

u = —0.902387 + 0.8262491

4.85853 + 3.083951

4.14772 — 2.469511

u = —0.902387 — 0.8262491

4.85853 — 3.083951

4.14772 4 2.469511

u = —0.858968 + 0.882764.1

12.99360 — 1.815161

11.64969 + 0.864951

u = —0.858968 — 0.8827641

12.99360 + 1.815161

11.64969 — 0.864951

u = 0.853261 4 0.9041881

—15.0818 4 2.84491

11.96540 — 0.168631

u = 0.853261 — 0.9041881

—15.0818 — 2.84491

11.96540 + 0.168631

u = 0.935818 4 0.8285681

6.59163 — 6.093711

8.55797 + 7.378221

u = 0.935818 — 0.8285681

6.59163 + 6.093711

8.55797 — 7.378221

u = —0.962584 4 0.8397031

12.6661 + 8.19561

11.00485 — 5.807011

u = —0.962584 — 0.8397031

12.6661 — 8.19561

11.00485 4 5.807011

u= 0.355798 + 0.6091441

6.41234 4- 0.938461

12.13091 — 0.392811

u= 0.355798 — 0.6091441

6.41234 — 0.938461

12.13091 + 0.392811

u= 0.978792 + 0.8473771

—15.4823 — 9.31581

11.28938 + 4.911251

u= 0.978792 —0.8473771

—15.4823 + 9.31581

11.28938 — 4.911257

u = —0.345278 4 0.3645091

0.887471 — 0.2227341

11.11542 + 1.649991

u = —0.345278 — 0.3645091

0.887471 + 0.2227341

11.11542 — 1.649991




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cg, C8 w4+ e 4 4 bu+1
c2,C7 w4+ 4u—1
€3,C4,C5

€10, C11,C12

S I B |

C9

w30 — 7u?® 4. 521w — 295




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢, Cs v #3357 -+ 39y + 1
C2,C7 Yy — Ty =By + 1
€3,C4,C5 y30 — 43y + - — By +1
€10, €11, €12
Co yP0 — 23y2% + ... — 1109241y + 87025




